Non Calculator Indices AT2 L7
Law 1: Addition X8 x xP =xa+b
Ex 1 Simplify the following indices leaving them in index form.
1 a’xa3 2 p’xp™* 2a% x a?
4 39?2 %x29° 5 a~xa 5roxr
7 c?xc3xc? 8 2a*x2a*x2a> 3p?x4p~°
10 5a° x 2b? x 2a’
Law 2: Subtraction X2 = xP=x2a"P
Ex 2 Simplify the following indices leaving them in index form.
1 dé+d?3 2 d3=d’ a?+ab
4 10a8 =+ 5a° 5 24h* +8h q’+qg*xqg’
3 8
7 a’xa*+a 8 18ré=9r? 4aaz<a
6a’ x2a°
10 4a-2
Law 3: Negative X8 ==
Ex 3 Where possible find the value of the following in fractional form.
1 273 2 573 3
4 2°x273+26 5 a’+alf 107
22x 23 10a’ x 3a?
4p~? x 5p~3
P
Law 4: Zero x0=1
Ex 4 Simplify the following indices leaving them in index form.
1 89 2 al 10°
4 W3 X W™ X W2 5 430 20
B 4d? x 6d° 3a°x 10a
7 3a°x2a= 8 NG BT
6d3 x 8d*
10 3d?2 x 4d>
Law 5: Multiplication (x3)P = x2axb
Ex 5 Simplify the following indices leaving them in index form.
1 (a?)’ 2 (p%)° (2¢)°
4 (t2)° x t* 5 (w*)? +w? a3+ (a®)’
(aB)ZxaiO
7 3)3 215
(2r°) 8 (29°) 24’
(3d*)*x d°
10 — -

(d2)°




